| EXANLE  (ROB. ]

. (
FREE - BODY DI AR AM - -

| | ; floee— R ————
| ["1'\)l N ( / ;, 2,08 —
o ) e

} B ¢ %—j | : ,
; — <f DoV
| R4 W e W ey W 2R

I o
Sy =0

ST PR NN PR VO
| E/} 'f’@@ ';é_(LJHJfL-);, 1‘“(»)r> Edn (!>
,@/M iﬂ’l-,g,';(() *5

.
PNV I S NP % (1,2,1) t 39501, =0

K/} - 0“7\[)'( g @‘7’"(7*(/\]7_ i (leb\)‘ Ed/:,rl)t (L)
W= M9 = (350 )49 ) = 3430 )

| Q'L = 3430 N

i'!
| We =My = (1400 ;;5)(% “f’) = 1370 o
I




O (1 |
CRa = (o 131xi0") vaswa(300) + 9.625(3430)

(= 6060 D = 6.06 1
. (():
s - ;'_(3730 + 3430 + 37x0%) = 6060

R = 42200 = 422 gl

EXAMPLe  PROB, YA

S o

:;;mep CEACTION AT A TENON N CABlLE BC.
(FREE-BOPY DiAcRam OF BAR:

\_( \—g, b

s L § ‘E_H*‘(il"l s



